B & BHE-REREHE - BEAN
% t 19 100V A
# B B 5 = \ — ol
ARE (Hz) 50 60 =38 Ny — G0H:
KEEH (W) 10 11.5 o 34 ~J
g %A 0. 115 0.122 =30
AE (m’/h) 141 141 ke 26
K BWRSE (/b | 107 107
X1 BIRSE (/) 956 97
B % (dB) 25. 5 25. 5 100 S =
Z % (ko) 3.0 o
B A F % 0240mm = - 0 |
BT (GE) %1000 = e __ i @ B
TOBEY L | ABRERIY T 588 || = > [ fg op !
E B OB B & H 50 X 200 155 — \
£ BB B E @ i by 15
AhBELR 75KAT Q = 15
AEFESE ~10~40T Nt 10| == o
# % B i | IMOME(d. c. 500V) N\
B & & 5 | a . c 1000V (56 %E
(H) IRHEABEOPaCEFAHNTT. (IR 0 50 100 150 ®
WEMBATERK (J 1S CI603) ORELLIHOTT. BE (m*/h) A RYABRAMN
X1 ENBRTECEERER2 0n0REA 23 - g i LTRSS 50—
£ FIHRSEAEBAYE 0n0Rb 19 HEMEE i?f&%%a%ﬁgé%%ﬂtg/)
Bl mm / 0230 (109
: / _J:‘ 47
—
: WAy Sy J
|y
| e s
()
of[)D N
| o
] - -
) p
L J
JOJCIE.
_ /‘ - 0300
R e e | PR
=== | 7975 -RiR
N 2x5. 5
i+ ® e
L o ClE 1 B RN
| o &k
E E ; ¢: B BN % - . G?zij—i M\yﬂzuiéuﬁi
: | : o - X 5 10 @;i,f i
s = 4. ofi L Il / Zh c 100
RN "kt
L — — 3 e
A2 R J \@ AERANEAR |24 F (BRE) FY-SVOGW, FY-SVOBWC
AERAT T 140 . -
8x5x9ER Y B{{ & m B3 E f
19 B g 1 e i N7 (6100) EAGE EMI
277 BBHAE | | —
T$HHE 1
SyEvyRU] 6 | AKEEHA
%5 & £ M EIHE Tk % BB A
DAV 3 L : v | me | BRI $) 90 M EATRIMICARY ) TR,
2 r-vv7 |ppHE | 1|26 A& | b VRER) BE | -
317575 |BHAR | | V- /A-MOE%: 229cn’
4 |#U74x |PPHR | 1 k& Z i = %
5 lyvys- |A7NZ| 1 |REXBAZH TR izﬂ\W” T o
9 XW ﬁ%\ﬁw 1 X#@\)\W}gg#* Ji/\i/ 0 U " WK ]
—k\\ Y —
ETE i AURSR (yeaad) - (o) pra| Y 24 B7/83
R PPERE || ffgEAE [ 17. 6. 13[R [ TIND.
o [RE@T | PBTEME | |AKIBERER [ —= X!y . DN-4 75 0
10 V*Xﬁﬁwﬁ% 1 E‘QHTEHH FrGEE@ 9]
1 1lb-pi-  |PPHE | 1 [ok) 118 /0.6 NFY =YD TAVAFAAMASH]

TATA4




